RD Sharma Solutions Class 12 Ch 4 - Inverse Trigonometric Functions
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Solve the equation for x :
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Solution




RD Sharma Solutions Class 12 Ch 4 - Inverse Trigonometric Functions

Given,
tan™x + 1)+ tan ! (k- 1) = ran'lqi == i)

e _ Tk
= tan [w-‘= fan™ 8 [w=1yfr-1}<1

1-{w+1)x-1) 31"

-

]

x =y

i:v"lnce tan L +=Erl'lj.f = tar ! S
1=ny I
= tan! 2—): wtant L {9\'3 - 1}|-: 1
1= [x*-L] 31
e 2 -1 8 2
= tan™t| ——— [~ tant =, kT < 2
. [E—x"+1:| 31
— B sy =il gl
F—w* 1
= Bl s fiZr—16=0] -yFex <y
= 4243y “B=0, -\E-:n-:w."é
= dxw +B)-1(» +E) =0 N PR -

= [4x —1)[x +8) =10, e

= ¥ o= E ar »=-8
4+
But, - {—-.,E_. ﬂ@}
= # =815 not root of the given squation (1) Nad
For N o= 5 - {—1"5 -,IE}
= ¥ = ;r is 2 root of the equation (1} N
Hence, b
1
W o e
3
Q7

Solve the equation for x .
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Saolve the equation for x :
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